

Product Change Notification (PCN)

		_									
	PCN Numb	ber	505855		Date	e Issued	July 1	3, 20	018		
Reason for Change			Packaging Method/Quantity Changing								
Change Type Description			This letter is to inform you that the part(s) referenced in this notice will undergo packaging specification changes that may include new container sizes, quantities or changes to the label. No changes will be made to the product as a result of this change.								
Assessment of Change			Drop test approved								
Internal Molex Qualification Date			July 11, 2018								
Sample Availability Date (Changed Part)			July 11, 2018								
Planned Imp	lementation Da	ate	January	07, 2019							
Before Change Mini-Lock 2.5 53517**1 • Before (Current)	* Header PK Ch PACKAGE GTY, 2 - 6 cht	ange	Γ,		hange	3517**1* H PACKAGE QTY.2-1		K Cł	nang	e	
Belore (Current)	CKI.	INNER CARTON	SHIPPING CARTON	• Aller (New)	ブラスチック PLASTIC TR	トレイ (4列) AY (4 ROW)	内装力 PRIMARY	ートン CARTON	外装カートン SHIPPING CARTON	
	2 500	3 1,500	6,000			權数 CKT. SIZE	1トレイ製品数	トレイ 枚数 NUMBER OF	製品数	製品数(内装カートン×2)	
Tray for 2 – 6 ckt	3 300 4 300	3 980 3 980	3,600		The second se	2	QTY. IN ONE TRAY 168	TRAYS 20	QUANTITY 3,360	(PRIMARY CARTON X2) 6,720	
(2 - 0 CKt 学術語) (2 - 0 CKt	5 300	3 900	3,600			3	128	20	2,560	5,120	
「「「「「「「」」」」	6 200 PACKAGE QTY. 7 – 15 ckt	3 600	2,400			5	96 80	20 20	1,920	3,840 3,200	
	CKT. PLASTIC TRAY (4 CHANNEL)	INNER CARTON	SHIPPING CARTON	L'		6	72	20	1,440	2,880	
	SIZE 077,958 R 0 7 50	B 400	QTY.		ray for	7 8	64	20 20	1,280	2,560 2,240	
Tray for	8 50 50	8 400 8 400	1,600		- 15 ckt	9	48	20	960	1,920	
7 – 15 ckt	10 40	5 200	800	Product que in the new PK	uality remained	10	44	20	880 800	1,760	
0.0000000000000000000000000000000000000	11 40 12 40	5 200	800	In the new PK ✓ See attach	·	12	36	20	720	1,600	
	13 25	8 200	800	impacted part	list	13	36	20	720	1,440	
1	14 25 15 25	8 200 8 200	800	 There is n Product fit/for 		14	32	20 20	640 640	1,280	
				i roddot fit/for			10.000		10/10	0.000000	

molex

Product Change Notification (PCN)

You may address any technical inquiries regarding this PCN by sending E-mail to pcn_coordinator@molex.com or your Local Sales Engineer.

Note: While responding, please retain "**PCN Notification:505855**" in the e-mail Subject line for faster response.

RELEASED

Molex, LLC 2222 Wellington Court Lisle, IL 60532 TEL: 630-969-4747 www.molex.com

Updated Quantity Template

Molex Part Number	Current Standard Pack Quantity (DU)	Current Minimum Order Quantity	New Standard Pack Quantity (DU)	New Minimum Order Quantity
535170210	6,000	12,000	6,720	13,440
535170211	6,000	0	6,720	13,440
535170212	6,000	0	6,720	13,440
535170214	6,000	24,000	6,720	13,440
535170216	6,000	0	6,720	13,440
535170310	3,600	7,200	5,120	10,240
535170312	3,600	0	5,120	10,240
535170410	3,600	7,200	3,840	7,680
535170510	3,600	7,200	3,200	6,400
535170610	2,400	7,200	2,880	5,760
535170710	1,600	3,200	2,560	5,120
535170711	1,600	0	2,560	5,120
535170810	1,600	6,400	2,240	4,480
535170910	1,600	3,200	1,920	3,840
535170911	1,600	0	1,920	3,840
535171010	800	2,400	1,760	3,520
535171011	800	0	1,760	3,520
535171110	800	6,400	1,600	3,200
535171210	800	1,600	1,440	2,880
535171410	800	0	1,280	2,560
535171510	800	0	1,280	2,560

Molex Part #
535170210
535170310
535170410
535170610